



Republic of the Philippines VISAYAS STATE UNIVERSITY

Visca, Baybay City, Leyte

PURCHASE REQUEST

PPMP No.: 20-5-1085-2023-2-0-1

PR No.: GF-2023-07-01235

Date: 07-23-2023

Dept./Office: IHK

Category: Sports Supplies

Section/End-User: Marvin B. Bandalan

Project Title/Code: CONDUCT OF ACTIVITIES FOR SPORTS AND CULTURE DEVELOPMENT_HIGHER

Funding Source: General Fund - MOOE

EDUCATION PROGRAM

Item #	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1 Acoustic Guitar		unit	1	6,000.00	Mari	6,000.00

Specification:

Spruce wood top

back/sides: mahogany wood

pick up : 5way EQ with tuner

Fretboard: rosewood

Bridge wood: rosewood

Size: 41 inches

Freebies: Guitar Bag, Strap, Cable and Pick

2 Arnis, Official Equipment Set	set	10	10,000.00	100,000.00
Specification:				100,000.00

2 Red and 2 Blue

Includes: Head Gear, Body Armor, Upper Arm Guards, Lower Arm Guards, Upper Leg guard, Lower Leg Guard, Hand Protector Gloves.

Size: (2 Large and 2 Medium)

3 Badminton Racket	рс	49	800.00	39,200.00	
Specification:	Name and Address of the Owner, where			05,200.00	

1 pc Graphite Carbon Racket

4 Ball, Basketball, GG6x, size 6	pc	10	2,500.00	25,000.00
Specification:				20,000.00

· FIBA Approved premium composite leather Signature patented 12-panel design. Nylon wound butyl bladder. · Construction: Laminated. · Offical size and weight. · For indoor use only. · Size: 6 · Comes inflated directly from the factory. 5 Banduria unit 2 4,000.00 8,000.00 Specification: · Local Banduria made of Ordinary Wood · FREEBIES: · -with ordinary soft case/ padded bag · -pick · -3x extra string #1 6 Baseball Ball pack 11 7,200.00 79,200.00 Specification: 12 pcs/pack Seam Construction: Raised Center COnstruction: wool&rubber cork core Cover Construction: Grade C/D Full Grain Leather 7 Baseball Catchers Helmet, Black рс 5 3,500.00 17,500.00 Specification: Size: (2-Large, 1- XL, 1-Medium) 8 Baseball/Softball Chest Protector pc 3.500.00 17,500.00 Specification: Size: (2-Large, 1-Medium, 1-XL) Back: Dynamic Fit System 2.0 Padding: Impact Absorbing Foam Sleeves: Adult Sport: Baseball/softball Technology: Heat Exchange, Coolflo Venting Usage: Chest Protectors 9 Baseball/Softball Leg/Shin Guard pair 5 3,500.00 17,500.00 Specification:

Size: 2-Large, 2-Medium

Back: Quick Adjustable Velcro Straps

Fit: Intelligent Knee Positioning Technology

Padding: Adjustable Inner Knee and Shin Pads

Removable Panel: Adjustable/Removable Toe Flap

Technology: Advanced Impact Mangement System (AIMS), Tri-Tech Padding, Pro Dri, SuperToe

Usage: Leg Guards

10 Cello 4/4 size handcrafted unit 2 14,900.00 29,800.00

Specification:

Solid Spruce

with Padded Gig Bag

with Horse Tail Bow

with Free Rosin

11. Electric Bass Guitar unit 1 12,000.00 12,000.00

Specification:

- · Finish: Vintage Worn
- Body Material: Poplar w/ Mahogany Veneer
- Neck Material: Okoume
- Neck Shape: 1960's SlimTaper™; D profile
- Machine Heads: Premium Covered; 14:1 ratio
- Neck Pickup: Epiphone 650R Humbucker; Open-coil; Ceramic-8 Magnets
- Bridge Pickup: Epiphone 700T Humbucker; Open-coil, Ceramic-8 Magnets

12	Electric Piano	unit	1	15,000.00	15.000.00

Specification:

- · Brand new.
- Original
- Number of Keys:61
- Type of Keys:Organ Style
- · Velocity Sensitive:Soft, Medium, Hard, Fixed
- Polyphony:48 Notes
- Presets:622 Instrument voices
- Effects Types:12 x reverb, 5 x chorus
- Audio Recording:2-track, 5 songs/10,000 notes
- Audio Playback:154 preset songs, SMF formats 0/1
- Audio Inputs:1 x 1/8" (aux)
- USB:1 x Type B
- · MIDI I/O:USB
- Headphones:1 x 1/4"
- Pedal Inputs:1 x 1/4" (sustain)

 Built-in Speakers:2 x 4.7", 2.5W per side · Power Supply:12V DC power supply (sold separately), 6 x AA batteries • Height:4.6" • Width:37.1" Depth:14.5" · Weight:10.1 lbs. (without batteries) 13 Electric Piano 88 keys 15,000.00 15,000.00 Specification: touch response • ?88 keys • ?16 songs · ?touch control · ?record & playback ?MP3/USB/MIDI 14 Laud Rosewood with Hardcase unit 2 8,500.00 17,000.00 Specification: Laud with Pickey 15 Octavina unit 2 6,000.00 12,000.00 Specification: Weight: 1.5kg Hand Configuration: Right Handed Body Material: Mahogany Ukulele Material: Spruce Length: 80cm 16 Viola 4/4 Handcrafted unit 2 7,000.00 14,000.00 Specification: **MOZART VIOLA** STRINGED INSTRUMENT COMES WITH A CASE 17 Violin 4/4 Size Handcrafted unit 4 5,000.00 20,000.00 Specification: High-grade spruce wood and fine workmanship - 4/4 size, equipped with a set of various accessories -It is decorated with classic sub-gloss varnish painting -A set of strings make decent sounds

Color: A	rchaize color							
Panel M	aterial: Spruce							
Dimensi	on: - Violin: 60 x 21 x 3.8cm	/ 23.62 x 8	3.26 x 1.49in	ch -				
Panel: 3	5.5cm / 13.97inch -							
Head: 10	0.5cm / 4,13inch -			-				-
Neck: 13	3.5cm / 5.31inch -			•				
Bow: 74.	2 x 2.8cm / 29.21 x 1.10inch							
Weight:	1520g / 3.35lb / 53.61oz							
Package	Include: 1 x Violin (with delic	cate case	bag)					
	TOTAL				N			444,700.00
Purpose: For	IHK use (Sports and Cultu	re Develo	pment)			7400		1
Checked by:	LYNDON MAN	INGO		Fun	ds Available:	Ju	L. ODES	
	TWG - Sports Su				- HE	AD BUD	GET OFFICE	ante cont
Signature: Printed Name:	Requested by:		Noted by:	IARIS B. LIMI			Approved by:	
Designation:	END USER		UNIT	HEAD, PRO	JECT LEADER	R		ENT, VSU
)	7/27